	SETTLED TENDERS AND PURCHASE ORDERS DURING THE MONTH OF FEBRUARY - 2025									
SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	Settled rate per unit Rs.P.	Amount Rs.P.	Tender No. & date		
			Printing, Supply and delivery of the following items (as per the specimen available in stationery stores)							
			3. Ruled Note Book 100 pages foolscape 8.3 Kg white paper single colour with ruling as per the specimen with printing of Metro Water name and logo on each page, including page number as per specimen.	100	Nos.	48.50	4850.00			
1	099/2024-25, dt.07.02.2025.	- ' I Onn To St Mark's Church Seven Wells	Ruled Note Book 200 pages foolscape 8.3 Kg white paper single colour with ruling as per the specimen with printing of Metro Water name and logo on each page, including page number as per specimen.	50	Nos.	73.63	3681.50	MAT/LT/141/2023-24, opened on 11.01.2024, ARC valid till 18.02.2025		
			7. Current file sheet (green colour) as per specimen with one side printing of Metro Water Emblem 19 Kg Amaravathy colour wrapper.	8000	Nos.	0.87	6960.00			
			Note file sheet (yellow colour) as per specimen with one side printing of Metro Water Emblem 19 Kg Amaravathy colour wrapper.	8000	Nos.	0.87	6960.00			
			File Wrapper Mysore craft paper 90 GSM of size 9" x 14", with one side printing containing 100 Nos in a bundle as per the specimen.	8000	Nos.	2.08	16640.00			
	100/2024-25	M/s.Tamil Naud Newsprint and papers Limited.	Supply and Delivery of following Items as per the specifications.					MKTG/CO/047/2025,		
2	dt.14.02.2025	02.2025 (A Govt. of Tamil Nadu Enterprises) Regd. Office:67, Mount road, Guindy, Chennai- 600 032.	Supply and delivery of TNPL copier A4 size shrink Warp - 75 GSM. Width-21.10cm, Length-29.70cm.	500	reams	207.18	103590.00	dt.24.01.2025		
		M/s. ELCOT, Regd. & Head Office,	Supply, delivery and installation of the following items as per the specifications							
3	101/2024-25, dt: 17.02.2025	II Floor, MHU Complex, 692, Anna Salai, Nandanam, Chennai - 600 035. Tel: 044-66401400 Email: procurement@elcot.in	1. 33710-B11-063 - 2 TB SSD External Hard disk 2 TB SSD External Hard disk	1	No.	12400.00	12400.00	Proforma Invoice No: PI/CD027/004/001/2024- 25 EPROC-3162, dt: 31.01.2025		

SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	Settled rate per unit Rs.P.	Amount Rs.P.	Tender No. & date
4	102/2024-25 17.02.2025	M/s. ELCOT, Regd. & Head Office, II Floor, MHU Complex, 692, Anna Salai, Nandanam, Chennai - 600 035. Tel: 044-66401400 Email: procurement@elcot.in	1. 33592-A1-DT-006a - i5 - Desktop Computer-Windows with 3 years warranty. Make & Model: HP Pro Tower 280 G9 PCI Desktop PC-Processor- 12th Gen,Intel Core i5-12400 (2.5GHz, turbo up to 4.4GHz, 7.5 MB L2 cache, 6 cores), Memory- 8 GB DDR4 SDRAM @ 3200 MHz, Expandable upto 64 GB with one free slot, OEM Mother Board - "1. 3 PCI Slots (1 full-height PCI,1 PCIe 3 x1,1 PCIe 4 x16), 2.Integrated-Intel UHD Graphics 730, 3.10/100/1000 Mbps Network Card, 4. 8 USB ports ((Front :02 USB 3.0 10G, 2 USB 3.0 5G, 1 USB 2.0, 1 USB C) (Rear: 2 USB 2.0)), 5.HDM, 6.DP, 7. audio 3.5mm jack, Internal speakers, 8.RJ 45",Monitor- 19.5" TN -TFT Color Monitor with LED Backlight. Resolution 1600 X 900 (HPP204V Monitor), Hard Disk Drive- 256 GB SSD, Keyboard- USB – Membrane Keyboard, Mouse- USB – Optical Mouse, Pre-Loaded OS- Windows 11 Home with Licence, OS Compliance -Windows & Linux, Form factor - Tower.	2	Nos	37200.00	74400.00	Proforma Invoice No: PI/CD027/004/001/2024- 25 EPROC-3227, dt: 04.02.2025
			33592-A1-ADD-003 -Pre-loaded windows 11 Professional (with Licensed key) in lieu of Pre loaded windows 11 home	2	Nos	9860.00	19720.00	
			3. 33592-A1-ADD-049 - 512 GB SSD HDD in lieu of 256 GB SSD HDD	2	Nos	1850.00	3700.00	
			4. 33592-A1-ADD-001 - Antivirus - McAfee/ Norton/Symantec/Kaspersky with 3 year Licence	2	Nos	1490.00	2980.00	
		M/s. ELCOT, Regd. & Head Office,	1. 33592-A1-DT-006a - i5 - Desktop Computer-Windows with 3 years warranty. Make & Model: HP Pro Tower 280 G9 PCI Desktop PC -Processor-12th Gen,Intel Core i5-12400 (2.5GHz, turbo up to 4.4GHz, 7.5 MB L2 cache, 6 cores), Memory- 8 GB DDR4 SDRAM @ 3200 MHz, Expandable upto 64 GB with one free slot, DEM Mother Board - "1. 3 PCI Slots (1 full-height PCI,1 PCIe 3 x1,1 PCIe 4 x16), 2. Integrated-Intel UHD Graphics 730, 3.10/100/1000 Mbps Network Card, 4. 8 USB ports((Front:02 USB 3.0 10G, 2 USB 3.0 5G, 1 USB 2.0, 1 USB C), (Rear: 2 USB 2.0)), 5.HDMI, 6.DP, 7. audio 3.5mm jack, Internal speakers, 8.RJ 45",Monitor-19.5" TN-TFT Color Monitor with LED Backlight. Resolution 1600 X 900 (HPP204V Monitor), Hard Disk Drive- 256 GB SSD, Keyboard- USB – Membrane Keyboard, Mouse- USB – Optical Mouse, Pre-Loaded OS- Windows 11 Home with Licence, OS Compliance -Windows & Linux, Form factor - Tower.	2	Nos	37200.00	74400.00	Proforma Invoice No: PI/CD027/004/001/2024- 25 EPROC-3231, dt: 04.02.2025
5	103/2024-25 17.02.2025	II Floor, MHU Complex, 692, Anna Salai, Nandanam, Chennai - 600 035.	33592-A1-ADD-003 - Pre loaded Windows 11 Professional (with Licensed Key) in lieu of Pre loaded Windows 11 Home	2	Nos	9860.00	19720.00	
		Tel: 044-66401400 Email: procurement@elcot.in	3. 33592-A1-ADD-049 - 512 GB SSD HDD in lieu of 256 GB SSD HDD	2	Nos	1850.00	3700.00	
			33592-A1-ADD-001 - Antivirus - McAfee/ Norton/Symantec/Kaspersky with 3 year Licence	2	Nos	1490.00	2980.00	

SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	Settled rate per unit Rs.P.	Amount Rs.P.	Tender No. & date
			5. 33592-A6-MFD-005 - A4-33 PPM MFD Mono Copier/Printer/Scanner/wifi/ND with ADF with 3 years warranty. Make: HP & Model: LaserJet Pro MFP M329dw Type-Desktop, Technology- Laser, Print / Copy Speed- A4 - 35ppm, Resolution - 1200 X 1200 dpi, Memory- 512MB, Duplex Printing/Copy- Automatic, Zoom - Reduction / Enlargement- 25 - 400 percentage, Paper Supply- 250 Sheets, Network- USB, Ethernet, Wifi, Scan Mode- BW & Colour, Scanning Facility- Scan to PC, Scan to Email, OS Compliance- Windows & Linux, Interface- USB interface, RJ45 and connecting cables, Toner- Toner Yield of 1500 pages, Duty Cycle- 80000 pages, ADF- 50 sheets, Temperature & Voltage - Will work with Indian Climate and Electrical Environment"	2	Nos	25450.00	50900.00	
			Supply, delivery and installation of the following items as per the specifications.					
		M/s. Monsoon Enterprises Ground Floor, No.51, Shop No.2,	1.01. Supply and Delivery of 3 nos of 2.0 ton capacity Non Inverter Split Air Conditioner. Specification: Ton -2 ton capacity Technology of air - Non- inverter AC model BEE star rating of the product - 3 star (ISEER Value from 3.8 to 4.39), Material Condenser - Copper Unit Mounting Arrangements - Indoor unit - wall mount type Installation & Commissioning: With free Standard installation & Commissioning AC machine warranty: 1 year or higher Warranty on compressor - 5 years or higher Considering installation charges, Out door angle, 3mtrs of copper pipe set + Connecting cable (installation kit), 3mtrs of drain water line and 3 mtrs of Electric cord wire for 3 nos each. Make: Voltas/Blue bird/Equivalent.	3	Nos.	49000.00	147000.00	
6	104/2024-25, dt.18.02.2025.	Sun View Cottage Apartment, Palayakaran Street, Kodambakkam, Chennai-600 024. e-mail: sraju.monsoon@gmail.com Mobile:9841288703	1.02. Supply and Delivery of 1 no of 1.5 ton capacity Non Inverter Split Air Conditioner. Specification: Ton -1.5 ton capacity Technology of air - Non- inverter AC model BEE star rating of the product - 3 star (ISEER Value from 3.8 to 4.39) Material Condenser - Copper Unit Mounting Arrangements - Indoor unit - wall mount type Installation & Commissioning: With free Standard installation & Commissioning AC machine warranty: 1 year or higher Warranty on compressor - 5 years or higher Considering installation charges, Out door angle, 3mtrs of copper pipe set + Connecting cable (installation kit), 3mtrs of drain water line and 3 mtrs of Electric cord wire for 1 no. Make: Voltas/Blue bird/Equivalent.	1	No	38000.01	38000.01	MAT/LT/026/2024-25, opened on 09.01.2025

SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	Settled rate per unit Rs.P.	Amount Rs.P.	Tender No. & date
			1.03. Supply and Delivery of 4 nos of 5 KVA stabilizer, wall mounted type. Make: Blue Bird/V-Guard/ Equivalent. Warranty period: 36 months	4	Nos.	4500.00	18000.00	
			Printing, Supply and delivery of Stationary items (as per the specimen available in Stationery stores)					
			1. Pumping station log book of size 8 $\%$ " x 13 $\%$ " using 7.2 kg white cream wove TNPL paper 100 pages half calico binding as per specimen	100	Nos.	73.16	7316.00	
			3. Register of India Mark II pump F/c Size 8 1/2" x 13 1/2" using 8.9 Kg. white printing paper (TNPL) cream wove full calico stiff binding and including printing the label affixing in the front cover and with details of the book and index for about three pages and also printing the certificate in the inner page ruling and column having 200 pages as per specimen	100	Nos.	99.00	9900.00	
			4. Stock Book of Materials foolscape size 8 1/2" X 13 1/2" 7.2kg cream wove paper full calico stiff binding in printing label affixing in the front cover and details of stocks 200 pages with ruling colourn and index from about 4 pages and also printing the ceritificate in the inner pages including serial number except index column as per the specimen.	200	Nos.	107.50	21500.00	
			10. Duty Allocation Register of 200 folios in 8.9 Kg maplitho paper in size 13 1/2" X 17" both side printing half calico stiff bound as per the specimen	150	Nos.	138.80	20820.00	
			11. Register of PF F/c Size 8 1/2" x 13 1/2" using 8.9 Kg. white printing paper (TNPL) cream wove full calico stiff binding and including printing the label affixing in the front cover and with details of the book and index for about three pages and also printing the certificate in the inner page ruling and column having 200 pages as per specimen	50	Nos.	95.23	4761.50	
			13. Movement register F.cap size 8" ½ X 13" ½ using 8.9 Kg. cream wove paper ruling Double cap white printing paper 100 folios in each register made with book full calico binding ruling and Column as per specimen	100	Nos.	107.50	10750.00	
7	105/2024-25, dt.22.02.2025.	M/s. MMM Enterprises, O.No.127, N.No.64, Pedariyar Koil Street Chennai-600 001.	14. Imprest register F/c Size 8 1/2" x 13 1/2" using 8.9 Kg. white printing paper (TNPL) cream wove full calico stiff binding and including printing the label affixing in the front cover and with details of the book and printing the certificate in the inner page ruling and column having 200 pages as per specimen	100	Nos.	107.50	10750.00	Tender No. MAT/LT. No.143/2023-24, opened on 19.01.2024. ARC valid til 05.03.2025
			15. Mails Tapal Book-size 8 ¼ " X 13 ½ " foolscape first copy 7.9Kg white cream wove paper second copy yellow Colour each book containing 400 pages. Both side printing half calico stiff bound as per specimen.	100	Nos.	114.11	11411.00	

SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	Settled rate per unit Rs.P.	Amount Rs.P.	Tender No. & date
			17. Distribution Register 'F' scape size 8½ x13½" using 8.9 kg white cream wove paper full calico binding with 200 folios including SL No. as per specimen	100	Nos.	153.28	15328.00	
			19. File Movement register F.cap size 8" ½ X 13" ½ using 8.9 Kg. cream wove paper ruling Double cap white printing paper 100 folios in each register made with book full calico binding ruling and Colour as per specimen	50	Nos.	107.50	5375.00	
			20. Personal Register F.Cap size 8 1/2" X 13 1/2" using white wove paper ruling and column size having 200 pages in each book half calico binding as per specimen	200	Nos.	88.50	17700.00	
			22. Meter reading Register 100 pagers in 8.9kg Maplitho paper in size 8 1/2" X 13 1/2" both side printing half calico stiff binding as per specimen	200	Nos.	62.54	12508.00	
			23. Fund Transfer Register of F.Scap size; size 13" x 8 1/4" ledger paper with ruling column printed with folio numbers and header as per specimen in 100 folios half calico binding (Register should match with the specimen available at stores)	50	Nos.	97.59	4879.50	
			24. Work register- Daily work and progress details F.cap size 8 ½" x 13 ½" using 8.9 kg maplitho paper, ruling, double cap white printing paper, 100 folios in each register half calico binding.	50	Nos.	96.41	4820.50	
			25. Machine hole Daily Progress Register F.cap size 8 $\%$ " x 13 $\%$ " using 8.9 kg maplitho paper, ruling, double cap white printing paper, 100 folios in each register,half calico binding.	50	Nos.	95.58	4779.00	
			26. Inspection register F.cap size 8 ½" x 13 ½" using 8.9 kg maplitho paper, ruling, double cap white printing paper, 100 folios in each registe, half calico binding.	50	Nos.	91.11	4555.50	
		Ws. Aarko Manufacturing Company	Supply and delivery of Mechanical Joint Collars for DI Pipes, various sizes of Cast Iron Sluice valve with cap/wheel (PN 1.0) as per I.S.14846:2000 specification to its latest revision with ISI mark, Cast Iron single and double air valve as per I.S.14845:2000 specifiction to its latest revision and various sizes of Ductile Iron specials as per IS 9523:2000 to its latest revision with ISI mark for O&M works on ARC basis for the year 2024-2025 2. C.I D/F Sluice Valve with CAP/Wheel as per IS 14846/2000 PN 1.0 with ISI marking with 5 years warranty.					
	106/2024-25,	74-75 Industrial Estate, Behind Sharp Chucks	2.01. 100mm	18	Nos	5000.00	90000.00	Tender
8	dt.28.02.2025	Jalandhar-144012, Punjab	2.02. 150mm	11	Nos	7610.00	83710.00	No.MAT/OT/028/2024-25, ARC valid upto 28.02.2026
		Email: info@aarkovalves.in Mobile:9463502625	2.03. 200mm	5	Nos	13540.00	67700.00	,
			2.04. 250mm	3	Nos	23710.00	71130.00	
			2.05. 300mm	1	No	28975.00	28975.00	

SI. No.	P.O.No. Date	Successful tenderer	Details of items	Quantity	Unit	nor linit	Amount Rs.P.	Tender No. & date
			4. C.I Double Air Valve as per ISI 14845/2000 and with 5 years warranty					
			4.02. 100mm	3	Nos	7870.00	23610.00	
			4.03. 200mm	1	No	24788.14	24788.14	